Input to inference
batch size (b_s)
concurrent instances(c_i)
total Instances (t_i)
inferenceTimes =[]

v

Instance 1

| warmup for 10 cycles |

iterations = 0

Y

iteration <=t_i/c_i

Yes
Y

start timer

i

init accelerator memory;copy from
host to accelerator (if applicable )

v

run inference

v

copy inference output to host

v

end timer

v

iterations = iteration + 1
inferenceTimes.add( startTime - EndTime )

¢ -----

v

Instance ¢

[ warmup for 10 cycles |

iterations =0

iteration<=t_i/c_i

Yes
Y

start timer

'

init accelerator memory;copy from
host to accelerator (if applicable )

v

run inference

Y

copy inference output to host

Y

end timer

Y

iterations = iteration + 1

inferenceTimes.add( startTime - EndTime )




